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ADVANCED BUSINESS MATHEMATICS — HONOURS

Paper : DSE-5.1 AH
(Module - IT)
Full Marks : 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words

as far as practicable.

Answer any four questions.

\Il+x+1-2—l

Evaluate : lim

x—0 K

z =

The function f(x)= =1 is undefined at x = 2. Redefine the function so as to make it continuous
at x=2. 55

0-
Evaluate : E

A l—x

-1

3
dx
Evaluate : | —————. 345
(x —3)«!x+l

L
If £(x)+2f(~x)=x?, show that £(3)=3.
If y=2x3 + 3x2 ~ 36x + 7, find the values of x for which %=0 ; 5+
Solve by Cramer’s Rule : 2x—y+3z=-2, 3x +2y+3z=9, x +2p~z=09,

] IR o
Show that the matrix A:S 2 1 -2/ is orthogonal. Hence, find 4!, 545
-2 2 -l

Please Turn Over
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N

(a)

(b)

6. (a)
)
7. (a)
(b)
8. (a)
(b)

Evaluate : J.(J.\' " l)\/th"‘ +4x 45 dx

2

) o) d g '~
Ifx=r"+21, y=1t=-21, find out —2] at =1, 5+5
dx
o IR ()
Without formal expansion prove that [0 x y =3+ y3 ;
g {2
I+x 1 1
10, |
Prove that [l+—+—+—] isafactorof | 1 1+p 1 |. 5+5
XSz
1 s

The price per unit p(x) at which a company can sell all that it produces is given by

p(x) =300 — 4x and that cost function is c(x) = 300 + 52x, where x is the number of units produced.
Find x so that profit is maximum.

Find the area bounded by straight lines 3x — 2y =6, 2x+y =10 and x axis. 55

5
Let 4 and B be two matrices such that ABz[}1 2] and B:[; 4). Find out 4.

=t 3 5

If P=| 1 -3 —5|, then show that P2 = P and hence find matrix O such that 4P2 —2pP + 0=0,
=l 33

where O is the zero matrix of order 3. 5+5

¥
J.
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2023

AUDITING AND ASSURANCE — HONOURS
Paper : CC-5.1Ch
Full Marks : 80

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Group - A
. State the basic principles governing an audit as per SA-200. 5
Or,
(a) What are Standards on Auditing?
(b) State the purpose of Standard on Auditing. 2+3
. Distinguish between Fraud and Error. 5
. What is Audit file? State different types of Audit file. 243
Or,
Explain the concept of ‘auditing in depth’ and its advantages. 5
Group - B
. Discuss the essential steps involved in conducting the audit of a hospital. 10
Or,
What is Analytical procedure? Explain briefly the tools and techniques of analytical procedure as per
SA 520. 3+7
. (a) What do you mean by Audit risk?
(b) Mention different types of Audit risk.
(c) Distinguish between internal check and internal Audit. 3+3+4
. How will you verify the following items of the balance sheet (any two)? 3x2

(a) Trade Payables
(b) Inventory
(c) Plant and Machinery.

Please Turn Over
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Or,
(@) “Vouching is the essence of audit.” Discuss.

(b) Mention the steps to be considered for vouching of “Travelling expenses’ of a company. 5+5

7. (a) Mention the essential features of a good audit report.

(b) Explain ‘Report with Disclaimer® with an example. 5+5
Or,

(a) What is Auditor’s certificate?

(b) Distinguish between auditor’s certificate and audit report. 3+7
8. Write short notes on any two : 5x2

(a) Cost Audit

(b) Environment Audit

(c) Management Audit.

Group - C

9. (a) Discuss the rights and duties of a company auditor.

(b) How is an auditor of a company appointed in case of casual vacancy? 10+5

Or,

(a) State the provisions of the Companies Act, 2013, regarding appointment of a company auditor.

(b) Can dividend be paid without writing off past losses? 10+5




1
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2023

AUDITING AND ASSURANCE
Paper : CC-5.1Cg
Full Marks : 80

GENERAL

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version|
The figures in the margin indicate full marks.
Group - A

1. “Auditing is accounting control.” — Discuss.
Or,

Distinguish between Continuous Audit and Periodical Audit with examples.

2. What do you mean by auditing in depth? What are the advantages of auditing in depth?
Or,

Write a short note on Audit Memorandum.

3. “Detection and Prevention of Errors and Frauds are important objectives of audit.” — Discuss.

@+30

7
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Group - B
: . : I
Prepare an Audit Programme of a private school. v

How would you vouch the following items as an auditor (any two)? 5%2
(a) Collection from Debtors
(b) Cash purchase
(¢) Advertisement expenses.
Or,
How would you verify the following items as an auditor (any two)?
(a) Goodwill
(b) Cash and Bank balances
(c) Trade payables.

iy
Y

What do you mean by Auditor’s report? How does an auditor’s report differ from auditor’s certificate?
446
Or,

What is a qualified report? Under what circumstances an auditor issues a qualified report? How does
a qualified report differ from an unqualified report? 3+3+4

Write short notes on (any two) :

LA
“
(V]

(a) Tax audit

(b) Social audit

(c) Environment audit.
Or,

What do you mean by management audit? What are the objectives of Management audit? What are the
advantages of Management audit? 33
What is Internal Audit? Can a Statutory Auditor rely upon the report prepared by an Internal Auditor?

PR |
ol |

Group - C

(a) What are divisible profits? What are the dutie

s of an auditor regarding payment of
company’?

dividend by a
(b) Can dividend be paid out of profit prior to incorporation?

(+8)+5
Or,

What are the necessary qualifications of an auditor

? Discuss the provisions of the Companie
regarding removal of an auditor,

S Act, 2013
5+10
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CORPORATE ACCOUNTING — HONOURS
Paper : DSE-5.2AH
Full Marks : 80
The figures in the margin indicate full marks
Candidates are required to give their answers in their own words
as far as practicable.

Group - A

Kristi Ltd. issued 10,000 equity shares of ¥ 100 each at 20% premium. The amount is payable as :
On application ¥ 30: on allotment T 50 (including premium) and the balance equally in two calls.

Till date the company called-up all money except the final call and it received all the money due except
on the following shares :

Shares | Unpaid amount
Holders '

held | _Allotment ¥ Ist Call 2
Mr. A 800 ' 30 20
Mr. B | 500 10 20
Mr. C 400 — 20

The company forfeited the shares on which both allotment and 1st call money were due.

Of the shares forfeited, 500 shares as forfeited from Mr. A and 300 shares as forfeited from Mr. B
were re-issued as ¥ 80 paid at a discount of ¥ 15 each.

Show the journal entries (narration not required) for forfeiture and re-issue in the books of Kristi Lid.
10

B Ltd. has its share capital divided into equity shares of X 10 each. On 01.01.2023 it granted 20,000
employees stock option at ¥ 50 per share, when the market price was T 120 per share. The options
were to be exercised between 15th March, 2023 and 3 1st March, 2023. The employees exercised their
options for 16,000 shares only and the remaining options lapsed. The company closes its books on 31st
March every year. Show necessary journal entries to record the above transactions. 10

Please Turn Over
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Or,

C Ltd. made a public issue of 1.50.000 shares of T 100 each at par, T 60 payable on application and
balance on allotment. The issue was underwritlen by A, B and C in 5:3:2. Applications for 1.43.900

shares were received as per the details below :

Underwriters Firm. Mf_‘ rk{:(l Total
applications applications |
A 5,000 40,000 | 45000
B 5.000 45,900 50.900
C 3,000 18,000 21,000
Unmarked applications 27,000
Total 1.43.900

It was agreed that benefit of firm underwriting be given to individual underwriters. Calculate the total
liability of each of the underwriters in terms of number of shares. 10

The 3,000. 6% Redeemable Preference Shares of ¥ 100 each, fully paid of A Ltd. were due for
redemption on 01.04.2023 at a premium of 5%. A Ltd. follows Accounting Standards as prescribed by
the Companies Act, 2013.

Reserves and Surpluses on 01.04.2023 were:

Capital Redemption Reserve < 60,000
Revaluation Reserve T 80,000
Securities Premium < 40,000
General Reserve < 2.80,000

Statement of Profit & Loss (Cr.) ¥ 1,20,000

For the purpose of redemption, the company made an issue of 1,200 Equity Shares of ¥ 100 each at
a premium of 20% on the above mentioned date. The issue was immediately subscribed and paid for.

It also sold 60% of investments (Book value ¥ 1,80,000 and Face value ¥2,00,000) at 95%.

Show Journal entries (narrations not required) to give effect to the above transactions. 10
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Or,

Ihe tollowing is the Balance Sheet of E Ltd. as on 31st March, 2023:

Amount (3 ) |

I Equity and Liabilities

1. Sharcholders® Fund
(a) Share Capital

3.00.000 Equity Shares of % 10 each fully paid | 30,00,000
(b) Reserves and Surplus
General Reserve 7.00,000
Securities Premium 5,00,000
2. Non-current Liabilities
12% Debentures of ¥ 100 each 14.00.000
3. Current Liabilities
Trade Payables 4,60,000
60,60,000
II. Assets [
1. Non-current Assets
(a) Property, Plant and Equipment — Tangible 33,30,000
(b) Non-current Investments 3,70,000
2. Current Assets
(a) Inventories 12,00,000
(b) Trade Receivables: Debtors 5.90.000
(c) Cash and Cash Equivalents 5.70,000
60,60,000

On 1st April, 2023, the shareholders of the company have approved the scheme of buyback of equity
shares as under:

(a) 20% of the equity shares would be bought back at T 16 per share.

(b) General Reserve balance may be utilised for the above purpose.

(¢) Premium payable on buyback of shares should be met from the Securities Premium Account.
(d) Investments would be sold for ¥ 3,90,000.

Pass journal entries to record the above transactions and prepare the Balance Sheet of the
company immediately after the buyback of shares. 6+

Please Turn Over
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pS

4. I Lud. issued 1,000, 12% Debentures of T 100 each on 1st April, 2020, repayable at the end of 3 years
at a premium ol 5%. It was decided to create a sinking fund for the redemption of debentures
The ivestments are expected to earn interest at 5% per annum, Reference to the sinking fund table

shows that ¥ 0317209 invested at 5% per annum amounts to T | at the end of three years. Investments
E ]

were sold for 70,000 and debentures were redeemed on 31st March, 2023. Prepare 12% Debentures

\'C. Debenture Redemption Fund A/C and Debenture Redemption Fund Investment A/C for the three

vears up to 31st March, 2023. 10
3. From the following mformation, calculate the value of goodwill as on 31.03.23. 10

® Equity Share Capital (T 10) ¥ 4.,00.000.

® 9% Preference Shares Capital ¥ 1,00,000.

® Reserve and Surplus ¥ 90,000.

® 10% Debenture ¥ 1.00.000 (issued during the year 2018-2019)

® Depreciation fund I 60,000.

® Creditors ¥ 70.000.

® Market Value of Assets is ¥ 90,000 more than the book value.

® Profits for last 3 years after 20% tax were :
2020-2021: X 80,000, 2021-2022: ¥ 1,17,000 and 2022-2023: ¥ 1,18,000 respectively.

® Non-trade income of X 15,000 (before tax) is included in the amount of profit for 2021-2022 only.
In 2020-2021, the company suffered an abnormal loss of ¥ 24,000.

® Fair Return on Capital Employed in this type of business is estimated at 10%.

® Goodwill is to be valued on the basis of 3 years purchase of Super Profit.
(Take simple average profit).

Or,

The following particulars are available in respect of H Ltd. :

(a) Capital 450, 6% preference shares of < 100 each fully paid and 4,500 equity shares of T 10 each
fully paid

(b) External liabilities: ¥ 7,500

(c) Reserves and Surplus: 35,000

(d) The average expected profit (after taxation) earned by the company ¥ 8,500
(e) The normal profit earned by same type of companies is 9%

(f) 10% of the profit after tax is transferred to reserves.

Calculate the intrinsic value per equity share and value per equity share according to vield b

. BN, as1s.
Assume that out of total assets, assets worth of ¥ 350 are fictitious,

343
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Group - B

6. Big Lid. agreed to acquire the business of Small Ltd. as on 31.03.2023. The summarised Balance

Sheets of the two companies as on that date were as follows :

Particulars Big Ltd. Small Ltd.
Equity and Liabilities ?) )
Equity Share Capital (X 10 each fully paid) 5.00,000 3.00.000
General Reserve 200,000 1.00.000
Balance of Profit & Loss Statement (Cr.) 1,60,000 40,000
12% Debentures 1,50,000 50,000
Trade Payables (Creditors) 70,000 20,000
Total | 10,80,000 5,10,000

Assets :
Tangible Assets 7,10,000 3.20,000
Goodwill = 50,000
Current Assets . 3,70,000 1,40,000
‘Total | 10,80,000 5,10,000

Following were agreed for the purpose of take over:

® Assets of Small Ltd. were revalued as: ’i‘angxblej&;se%’*?‘
Current assets at 31,37, 000. '

"_-. «ixl 1

L TR b
® (Claim of debenture hulders of Small Ltd were to be dlsc 1arged at 4% premium by the issue of

sufficient equity shares of Big Ltd. of ? 10 eqch at an agreed price qf < 12.50 each.

g TR K
® The consideration was satlsﬁed £t T U o ) i ‘

By the issue of 30,000, ¥ 10 fully paid shares at an agreed valne of % 12.50 each; 12% Debentures
of T75,000 of Big Ltd. at par and the balance in cash.

You are required to : font 0. toAntmedn e oY) pialy sd
. 4 5 . i -
(ii) Prepare Business Purchnqe Accoum az;d qumdator of Small L;d. Accamt in the books of Big

Lid., a.nd § f: 1117 4T 4t 8] ke imaita N
(iii) Prepare the Balance Sheet of Big Ltd. after anquisnion of Small Ltd;

(i) Calculate the purchase consideration
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Or,
Following are the ledger balances of P Ltd. on 31.03.2023 :
4 4
Property, Plant and Equipment 32,00,000
Non-current Investments 40,000
Inventories (Market value ¥ 13.60.000) 15.60.000
Debtors 18.40,000
Shares issue expenses 80,000
Bank overdraft 2,00,000
8% “A’ Debentures 8.00,000
10% °B’ Debentures 20.00,000
Sundry creditors (including Shyam for ¥ 22.00,000) 46.00,000
Accrued Debenture Interest : ‘A’ Debentures 80,000
‘B’ Debentures 2.40,000
A 320,000
Equity share capital (40,000 shares of ¥ 100 each, o 24.00.000

T 60 paid-up)

Due to accumulated losses and overvaluation of Property, Plant and Equipment, following scheme
of reconstruction is agreed upon :

(1)

(ii)

(i)

(iv)

(v)

(vi)

To make call against the existing equity shares to make them fully paid and then to sub-divide
them to shares of X 20 each.

After sub-division the equity shareholders to surrender 80% of their holding for redistribution
or otherwise for cancellation.

To settle the claim (inclusive of interest) of the holders of Debentures *A’ by issuing 4000,
12% Debentures of ¥ 100 each. They are also to be issued 12.000 equity shares out of
surrendered shares.

To issue 60,000 equity shares out of surrendered shares to the holders of Debentures *B in
full settlement of their claim. (including interest)

To issue 40,000 equity shares out of the surrendered shares to Shyam in full settlement of
his account.
o write off all accumulated losses, lictitious assets and write down the Property, Plant and

Equipment to the extent possible. Pass necessary journal entries to give effect to the above
transactions and prepare the Balance Sheet of P Ltd. after reconstruction. 13
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7. From the following trial balance of X Ltd. as on 31.03.2023, prepare Statement of Profit and Loss for
the year ended 31.03.2023 and Balance Sheet as on that date as per Schedule-I11 of Companies Act,

2013 : ' 15
Particulars Dr. }) Cr. )

Share capital : Subscribed and Paid-up (% 10 each) — 40.00.000
Land (at cost) 30.00,000 —
Building (at cost) ' 20.,00.000 =
Plant and Machinery (at cost) ‘ 30,00,000 ==
Furniture and Fixture (at cost) 2,00,000 —
Opening stock-in-trade 5,00,000 —
Purchases - 1 °52,00.00057 =y
Purchase returns Al — /50,000
Sales — 75,22.000
Sales return 124,000 —
Managing Director’s Remuneration 0,00 ==
Salaries and wages =
Investment (at cost) : ==
Investment income received . i o |l 0 00
12% Debentures (fully secured) — 20,00,000
Debenture interest paid ) ==
Sundry Debtors —
Sundry Creditors i 9.40,000
Interim dividend paid 241,120 ral
Profit and Loss balance (Cr.) as 01.04.2022 — 426,000
General Reserve on 01.04.2022 _ s 20,00.000
Unclaimed dividend - 24,000
Provision for depreciation as on 0l. 04 2022 :

ZH

OnBuidng
GnPhnt :




(¥(5th Sm.)-Corporate Acent.-H/DSE-5.2AH/CBCS) (83

Other Information :
(a) Closing stock-in-trade as an 31.03.2023 was valued at cost of  15.00,000.
(b) Provide depreciation on Fixed Assets as follows :
(1) Building @ 5% on wdy,
(i) Plant and Machinery @ 20% on wdv.
(i) Furniture and Fixture @ 10% on wdy.
(¢) Tax deducted at source on investment income was ¥ 1.200.
(d) Provision for tax is to be made @ 30%. 23, b : ‘
(e) The directors have recommended the following appropriations :
(i) Final dividend @2‘ 1.00 per share in addition to interim dividend already declared and paid. '
(ii) Transfer ¥ 1.,_(}11;6'09.-:—:&;& General Reserve. MOKE ‘

*; Moy

lﬂh"
"I-K“ﬂrﬂ-'
] DML
‘ ’5“1

!. fiﬁ*?m.‘
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CORPORATE ACCOUNTING — GENERAL
Paper : DSE - 5.2AG
Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.

NTFR© AN A [T |

et - 3

31 A Ltd. 10,000 220 I 15 BRA Wi G0 (BCOTR T NNt 207 ¢

() T 5 per share on Application;
(%) T 7 per share (including ¥ 2 per share as premium) on allotment;
(%) ¥ 5 per share on First and Final Call.

@A 10,000 CRITIR SIGAv=2i@ &2 Seatz| Mr. Pal R 1000 o wies fof Allotment <2
Call-<3 519 fat® #i1tawf | Mr. Ghosh 2 806 cazitea wiferes ff Call-a3 Bil fate =it | 8% et
Call-£3 %7 ISR T TR0 GR ARG AT fully paid 1< B0 @1317 =ifS 13 B! 23 M
Ganguly-(F re-issue 91 TR |

TS (FNSRT G AiEIEAIY S nikeef e $0a | Narration-493 2S5 G2 | so
43, TR e Rere syreiSrs epd A W IR GR SAROER 1 FRA FOE SREET
HArwena 2feffas Fare it 3797 T2 G @ |

The paid-up capital company is ¥ 8,00,000 consisting of 50,000 equity shares of ¥ 10 each fully paid and
50,000 equity shares of ¥ 10 each, ¥ 6 per share paid-up.

The Directors decided to issue one fully paid-up bonus share at a premium of ¥ S for every existing fully
paid share held and to make the partly paid shares fully paid.

Fa T (3 i 58 Zrre «ag e wiR SipiAeel W 2 | ereay s nRae Hitks

@74l (Narrations #g) | Yo
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ey
@afb iR 2,00,000 e waf sirafie 2y wtace T 10 cach at a premium of ¥ 2 per share. The
entire issue was underwritten by the underwriters L, M, N and O in the ratio of 4 : 3 : 2 : | respectively
with the provision of firm underwriting of 5,000, 4,000, 2,000 and 2,000 shares respectively.

TR IR e (A SEwE ol for 1,50,000 shares (excluding firm underwriting), out of

which applications for 55,000, 40,000, 42,000 and 8,000 shares were marked in favour of L, M, N and
0 respectively.

2t ISITIEOIET 7T S! St FM as regards the number of shares to be taken up assuming that the

benefit of firm underwriting is given to the individual underwriter. S0
W Lid.-43 Seesiai Wase 8
Balance Sheet as on 31st March, 2023 Notes to the Accounts
Particulars Notelzamonnt Particulars Amount
No.| @ ®)
I. EQUITY & LIABILITIES 1. Share Capital :
(1) Shareholders’ Funds 40,000 equity shares of 400,000
| (a) Share Capital 1 6,00,000 % 10 each fully paid
(b) Reserves & Surplus 2 1,60,000 2,000 5% Redeemable
(2) Current Liabilities Preference shares of
Trade Creditors 40,000 %100 each fully paid 2,00,000
Total 8,00,000 6,00,000
Il. Assets 2. Reserves and Surplus :
(1) Non-Current Assets Securities Premium 4,000
(a) Plant, Property & General Reserves 96,000
Equipment 3,00,000 Balance in Statement of
(b) Non-current Investment 2,00,000 Profit & Loss (Cr.) 60,000
(2) Current Assets :
(a) Inventories 1,50,000
(b) Trade Receivables : 1,60,000
Debtors 90,000
(¢c) Cash and Cash Equivalent:
Bank 60,000
Total 8,00,000
ll_a_mfzm, 2023 il comiTam coaaeel 5% wfaiva AR g | @R SrRe Riwias 10% yweie

forgr 1 7o) 7% TR &ffS 10 Bt e e 5,000 THRM CAR 10,50 DI WA AT WY} & | Ww2oig
comEm A Ay w9 2|
aane eranl afkeef B orie | Yo
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31O, 2023 ©ifftd New Ffithrea 98 are Frafafe el et 2o ¢

T in lakhs
I. Equity and Liabilities
! (1) Shareholders® Funds
! (a) Share Capital :
Equity share capital of ¥ 10 each fully paid 2,400
(b) Reserve and Surplus :
(1) Securities Premium Account 350
(i) General Reserve 930
(iif) Balance in Profit & Loss Statement (Cr.) 340
(2) Non-Current Liabilities
12% Debentures 1,500
(3) Current Liabilities
(a) Sundry Creditors 750
(b) Sundry Provisions 3
Total 6.660
II. Assets % in lakhs
(1) Non-Current Assets
(a) Property, Plant and Equipment :
(i) Machinery 3,600
(ii) Furniture 452
(b) Investments 148
(2) Current Assets
(a) Stock 1,200
(b) Debtors 520
(¢) Cash at Bank 740
Total 6,660

171 i, 2023-9 @r4iffG o TR0 G 25% G 2lf$ 15 Biel Wi 2130 (e R For this
purpose, it sold all of its investments for T 150 lakh and issued 2,00,000 14% Preference Shares of ¥

100 each at par, the entire amount being payable with application.

Ty A=l ARG T ZrfEE | @A AR sl e S|
HAE (FAAAE &) Gl aifeeefe orne | NS
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12% Debentures T 8,00,000; 12% Debenture Sinking Fund T 6,00,000; 12% Debenture Sinking Fund
Investments T 6.00,000 (represented by 10% Government Bonds with Face value of 7 7,20,000)

Annual contribution to sinking fund was ¥ 1,28,000 made on 31st March every year. On 31st March,
2023 balance at bank was ¥ 4,00,000 before receipt of interest. The company sold the investment at
80% of Face value and Debentures were paid up.

You are required to prepare :
() 12% Debenture A/c

(}) 12% Debenture Sinking Fund A/c

(°1) 12% Debenture Sinking Fund Investment Alc.

¢! () H Ltd.~¢3 WefERe Supmz 23 (1R 8

(%) Capital : 6,000, 7% Preference Shares of ¥ 100 each fully paid and 50,000 Equity Shares of

< 10 each fully paid.
(=) External Liabilities : ¥ 75,000

(® Reserves and Surplus : T 2,80,000
(*) The average expected profit after tax : T 90,000.

Calculate the intrinsic value per Equity Share, assuming that total assets include ¥ 30,000 fictitious

assets.
() G =il o PO e ¢
Particulars Amount () Particulars Amount (3)
10% Preference Shares of ¥ 10 each| 5,00,000 | 10% Debentures 7,50,000
Equity Shares of ¥ 100 each 10,00,000 | 12% Term Loan 10,00,000
Reserves and Surplus 5,00,000

74 € R MR AiE @AM oG A AR 7,50,000 Brel | SRR T 30% | @i

Price-Earnings (MPS/EPS) Si2I[® 10 7 T8 RITas Ireagen feias e

R

3+%

(@) forafrfae wrar fefere S (Super Profit) 3 TRUH TR #&STS Z Ltd.- 43 FAITNR YERE ST &
(@) Average Maintainable Operating profit ¥ 2,50,000

(=) Paid up share capital-% 10,00,000; Reserves and Surplus-¥ 3,00,000; 8% Debenture- 2 1,00,000.

(Z) Normal rate of return ; 10%,




y. |
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|1
qie

Banerjee-® @6 @uy (vt ara wi10e | 31.03.2023 wifare Sra b sifaa «fzsnet 20,00,000 G
- -
SHIEE 40,000 brast qrert @@z 40,000 5@ Chemist-93 (AG4 A% ol @417 217 G179 qarer e

3,00.000 Brt ) Sz afew wifere fifet wavew v Chemist, 6 8@ @arya i (e wnar) | fafarafers
AT T et " - " e TIT 3 . - —
YERT TN | 2% wntworne offewta w21 s o | 1 apitalization of Average Profit AG 52 A4

LIRS 3 7Y, SRt Jl JIE FAN IIq% T 5] 2SI S| FATT 2177 7

faerst -

8+%

X Ld., Y Lid.-® wfegzs 3536 1 Y Ltd.-93 10,000 23930 crira atacz a1 2fef7 intrinsic value 25
3001 Ltd. a3 =ifS 56 203 ooritea &y X Lid. fivea 4f w2 3952 oz 3 w3ve 35 ==
X Ltd.~¢3 =fSf 0991039 intrinsic value 251 35 i<l | S8 @21 2ifonm wism Srera wAfamaarsy |

&% ofonw € 9T J97 g oifawe [efy a1 |

(¥) A Ltd.. 31.03.2023 ©ifdtd B Ltd.-(F SfHezd 3008, @ ©fF0d B Ltd.-a93 Szesah o Fwas 2

| Particulars S e Ameung
l No. ®)
1. Equity and Liabilities
‘ 1. Shareholder’s Fund
' (a) Equity Share Capital (Z 10 each fully paid) 53,00,000
(b) Reserves and Surplus 1,50,000
2. Current Liabilities
(a) Trade Payable 2.00,000
Total 8.50,000
II. Assets
1. Non-Current Assets
(a) Property, Plant and Equipment :
Land and Building 1,00,000
Plant and Machinery 4,00,000
(b) Non-Current Investment 1,00,000
2. Current Assets
(a) Inventories 1,00,000
(b) Trade Receivables 1,00,000
(¢c) Cash and Cash Equivalent 50,000
Total §,50,000

A Lid., B Ltd.-= fsf@afae =g wigezd S &

(%) Purchase consideration being ¥ 7,00,000 payable in equity shares of ¥ 10 each in A Ltd.
(=1) The value of Land and Building ol B Litd. is to be considered at T 1,20,000.
A Ltd. @2¢ B Lid. Toraa fZa-4209 etaremiy Siraw Wike ST | SRPTREE 935 6,000 B A Lid.

e FTATE |

¢+30
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Honey Bee Lid. (419 S10a 793 41 (oiaiaa 59 aa0e | sed8) Aafatra ae carfe frafafre

ST AR

(¥) Each existing equity shares to be converted into one equity share of the nominal value Z 3 per share.

(¥) 8% Preference Shares are to be converted into such number of 16% Preference Shares of 2 100
cach to generate the same amount of dividend as before.

(%) Each T 100 debentures are to be exchanged for one T 50 new 12% Debentures and six new equity
shares of T 3 each.

(¥) The reduction of Capital and balance of Reserves are to be utilised for writing off losses, 60% of
the inventories and debtors; and balance, if any, to be used for writing down Plant and Equipment.

Balance Sheet of Honey Bee Ltd. as on 31.03.2023 : Notes to Balance Sheet (includes)

Particulars NNO:S Am(;;mt Particulars Am{;;.mt
I. Equity and Liabilities 1. Share Capital :
1. Shareholder’s Fund 2,000, 8% Preference 2.00,000
(a) Share Capital 1 8,00,000 Shares of ¥ 100 each .
(b) Reserves and Surplus 2 30,000 60,000 Equity Shares of |
2. Non-current Liabilities %10 each 6.00,000 |
Long-term borrowing : |
6% Debenture of ¥ 100 each 1,00,000 8,00,000
3. Current Liabilities 40,000 s
2. Reserves and Surplus
Total 9,70,000 General Reserves 1,50,000
II. Assets Balance in Statement
1. Non-Current Assets of P&L (1.20,000)
Plant, Property and
Equipment 3,00,000 30,000
2. Current Assets
(a) Inventories 3,75,000
(b) Trade Receivables :
Debtors 2,25,000
(¢c) Cash and Cash Equivalent 70,000
Total 9,70,000
Show necessary journal entries and draw up the revised Balance Sheet. \¢
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Stock, 31st March, 2022 75,000 -
Sales
Purchases 245,000 -
Wages 50,000 =
Discount - 5,000
Furniture and Fittings 17,000
Salaries 7,500 -
Rent - ' 4950 =
Sundry Expenses tic 7,050 : -
Balance of Profit (01.04.2022) ' - 15,030
Dividends Paid | 9,000
Share Capital : ATELL 74 H B T e - l'mm
Debtors and Ctedltors ol s 16y AT

_ ',n'r.n-b':'e:i ‘T“i‘!ﬂ! c ¥ ..d:w—‘f ’]G w _ a
el ekl 5 %8@,,-1“.:1; .

(= (4 2 -""='-,—- WL St e 8 N

S8 T4z (41 31st March, 2023 OIRT 1% 203
(%) Stock on 31st March, 2023 was valued at ¥ 82000
P ol Dt * @ i 8
(%) Depreciation on fixed assets @ 10% el i1y 51 Ve il e s
() Make a provision for income tax ¥ 13,50. e
2 , Tifl DRTOE e DAL 0008 PLL 2T T |ﬂtl_i,~4qu Yl
L-l_o‘l-l—_“: <

Wb ek maivwealing s Toovileel L ot sabaci)
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| English Version |

The figures in the margin indicate full marks.

Group - A

A Lid. made an issue of 10,000 equity shares of ¥ 15 each payable as follows :

(a) X S per share on Application;
(b) R 7 per share (including ¥ 2 per share as premium) on allotment:

(€) X S per share on First and Final Call.

The company received applications for 10,000 shares. Mr. Pal holding 100 shares failed to pay the
Allotment and Call money. Mr. Ghosh holding 80 shares failed to pay the Call money. All these shares

were forfeited after the call and subsequently re-issued to Mr. Ganguly as fully paid-up at T 13 per
share.

Pass necessary journal entries to record the above transactions. Narrations are not required. 10

M Construction Ltd. has accumulated large profits in the Reserve Account and the Board of Directors
decide to utilise it to make the capital properly representative of the final position.

The paid-up capital company is Z 8,00,000 consisting of 50,000 equity shares of ¥ 10 each fully paid and
50,000 equity shares of ¥ 10 each, 6 per share paid-up.

The Directors decided to issue one fully paid-up bonus share at a premium of T 5 for ev

ery existing fully
paid share held and to make the partly paid shares fully paid.

Assuming that the scheme is accepted and that all le

gal formalities are gone through, pass necessary
Journal Entries (including narrations),

10
Or,

A company made a public issue of 2,00,000 e

_ quity shares of % 10 each at a premium of ¥ 2 per share.
The entire issue was underwritten by the un

(.ie?rwriters L, M; N and O in the ratio of4:3:2:1
riting of' 5,000, 4,000, 2,000 and 2

The company received applications for 1,50,000 shares
which applications for 55,000, 40,000, 42,000 and 8,00
respectively.

;000 shares respectively.
(excluding firm underwriting) from public, out of
0 shares were marked in favour of L, M, N and O

Calculate the Liability of each underwriter as reg

ards the number of sh
that the benefit of firm underwriting is given to the

rds ares 1o be taken up assuming
individual underwrite

I 10
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Following is the Balance Sheet of W Ltd.

(9) | Y(5th Sm.)-Corporate Accounting-GIDSE-5.2AGICBCS

Balance Sheet as on 3Ist March, 2023

4

Notes to the Accounts

Particulars Note| Amount Particulars | Amount
No. ) %)
I. EQUITY & LIABILITIES 1. Share Capital :
(1) Shareholders’ Funds 40,000 equity shares of 400,000
(@) Share Capital 1 6,00,000 R 10 each fully paid |
(b) Reserves & Surplus 2 1,60,000 2,000 5% Redeemable
(2) Current Liabilities Preference shares of
Trade Creditors 40,000 %100 each fully paid [ 2,00,000
Total 8,00,000 | 6,00,000
I1. ASSETS 2. Reserves and Surplus :
(1) Non-Current Assets Securities Premium 4,000
(a) Plant, Property & General Reserves 96,000
Equipment 3,00,000 Balance in Statement of
(b) Non-current Investment 2,00,000 Profit & Loss (Cr.) 60,000
(2) Current Assets
| (a) Inventories 1,50,000
| (b) Trade Receivables : 1,60,000'
Debtors 90,000
| (c) Cash and Cash Equivalent:
Bank 60,000
Total 8,00,000

On Ist April, 2023, Preference Shares were redeemed at a premium of 5%. For this purpose, investments
were sold at a profit of 10%, and 5,000, equity shares of ¥ 10 each were issued at T 10.50 per share.

Preference shares were duly redeemed.

Show necessary journal entries for the above.

10

Please Turn Over
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Or,

On 31st March 2023, following balances were taken from the books of New Ltd. :

I. Equity and Liabilities
(1) Sharcholders® Funds
(a) Share Capital :
Equity share capital of ¥ 10 each fully paid
(b) Reserve and Surplus :
(i) Securities Premium Account
(ii) General Reserve
(iii) Balance in Profit & Loss Statement (Cr.)
(2) Non-Current Liabilities
12% Debentures
(3) Current Liabilities ;
(a) Sundry Credltors Riid l_| Acd Ee ST A sk
(b) Sundry Provisions 7 c oL .mmq.wv Rt 1)

sy frrrt:‘l‘fi!q Mw ity

pe F'lt ATil

II. Assets
(1) Non-Current Assets |
(a) Property, Plant and Equip

(ii) Furniture e

Z in lakhs

(b) Investments o qa,; | "1'".';. )

(2) Current Assets TRV 4 i hunmet A
(a) [Btock sG] S5 w*mﬁ
(b) Debtors vikoM
(c) Cash at Bank

On 1st April, 2023, the company anno

For this purpose, it sold all of its invest

of % 100 cach at par, the entzm amount bc
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Following balances appeared in the books of a company on st April, 2022 :

12% Debentures ¥ 8,00,000; 12% Debenture Sinking Fund 2 6,00,000; 12% Debenture Sinking Fund
[nvestments ¥ 6,00,000 (represented by 10% Government Bonds with Face value of 2 7,20,000).

\nnual contribution to sinking fund was 2 1,28,000 made on 31st March every year. On 31st March,
2023, balance at bank was ¥ 4,00,000 before receipt of interest. The company sold the investments
at 80% of Face value and Debentures were paid up.

You are required (0 prepare :
(a) 12% Debenture Alc
(b) 12% Debenture Sinking Fund A/c

(¢) 12% Debenture Sinking Fund Investment A/c. 10

(a) The following particulars are available in relation to H. Ltd. :

(1) Capital : 6,000, 7% Preference Shares of ¥ 100 each fully paid and 50,000 Equity Shares of
% 10 each fully paid.

(ii) External Liabilities : ¥ 75,000
(iif) Reserves and Surplus : % 2,80,000
(iv) The average expected profit after tax : ¥ 90,000.

Calculate the intrinsic value per Equity Share, assuming that total assets include ¥ 30,000 fictitious
assets.

(b) The capital structure of a company is given below :

Particulars mount (%) Particulars Amount (%)
10% Preference Shares of ¥ 10 each | 5,00,000 | 10% Debentures 7.50,000
Equity Shares of ¥ 100 each 10,00,000 | 12% Term Loan 10,00,000
Reserves and Surplus 5,00,000

The average profit of the company before payment of interest and income tax is ¥ 7,50,000. The
Income tax rate is 30%. Calculate the market price of each equity share of the company assuming
that Price-Earnings Ratio (MPS/EPS) is 10, 4+6

Or,

(a) On the basis of the following information, calculate value of goodwill for Z Ltd. under 3 years’
purchase of Super Profit Method :

(i) Average Maintainable Operating profit T 2,50,000,
(ii) Paid up share capital-¥ 10,00,000; Reserves and Surplus- 3,00,000; 8% Debenture- 2 1,00.000.

(iii) Normal rate of return : 10%.

Please Turn Over
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(d) P. Banerjee runs a Pharmacy shop. His net assets as on 31.03.2023 amount to T 20,00,000. After
paying a rent of ¥ 40,000 a year and a salary of 2 40,000 to the chemist, he earns a profit of
¥ .3,00,000. His landlord who happens to be an expert chemist is interested in purchasing the shop.
12% is considered to be a reasonable return on capital employed. How much Sri Banerjee expects

as payment for Goodwill if it is valued under Capitalization of Average Profit Method? Ignore
income tax. 4+6

Group - B

6. (a) X Ltd. took over Y Ltd. Y Ltd. had 10,000 equity shares having intrinsic value of Z 30 per share.
X Ltd. agreed to issue 4 equity shares of its own against every 5 equity shares of Y Ltd. The
intrinsic value per share of X Ltd. is ¥ 35. The balance of purchase consideration, if any, is to be
paid in cash.

Calculate purchase consideration and the amount payable in cash therein.
(b) A Ltd. absorbed B Ltd. on 31.03.2023 on which date the Balance Sheet of B. Ltd. was as follows:

Particulars Notes Amount
No. )
I. Equity and Liabilities 00
1. Shareholder’s Fund 0 .3
(a) Equity Share Capital (% 10 eachﬁﬂly pmd) Ty NN 5,00,000
(b) Reserves and Surplus o, - '.w m-J ﬁl ::!. 150,000
2. Current Liabilities .
(a) Trade Payable ot R s S L I "2 o gen
I1. Assets S - ‘ " = ¥
1. Non-Current Assets A T SRR N
(a) Property, Plant and Equipment : PG TUG-wsflE Ayl
Land and Building S il es il 1,00000
Plant andMachmery ; :"' 1T R (g mum
(b) Non-Current Investment,, ey RS s o [ 1,00,000

2. Current Assets o PN GRRE) sl

Nl Dy |
(a) Inventories o _ 1,00,000
(b) Trade Receivables o s ek Sy _ 1,00,000
. UL T g, MY o LR S
5 R and Ca Equwalent ‘t‘ -U “:.'f.!" il ru"“!!‘;w & i ! 5 ‘5&000

Chai i, § iy .iwlé.'.-ﬂiﬂz-’llmﬁi{‘ : sl ol \mm
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(1 The value of Land and Building of B Ltd. is to be considered at ¥ 1.20,000.

You are required to pass necessary journal entires in the books of both A Ltd. and B. Ltd. Expenses
on liquidation ¥ 6,000 is paid by A Lid. +10

Or,

Honey Bee Ltd. is suffering losses for last few years. The company undertook the following scheme of
internal reconstruction :

(a) Each existing equity shares to be converted into one equity share of the nominal value ¥ 3 per share.

(b) 8% Preference Shares are to be converted into such number of 16% Preference Shares of ¥ 100
each to generate the same amount of dividend as before.

(c) Each ¥ 100 debentures are to be exchanged for one ¥ 50 new 12% Debentures and six new equity
shares of ¥ 3 each.

(d) The reduction of Capital and balance of Reserves are to be utilized for writing off losses, 60% of
the inventories and debtors; and balance, if any, to be used for writing down Plant and Equipment.

Balance Sheet of Honey Bee Ltd. as on 31.03.2023 : Notes to Balance Sheet (includes)

Particulars Notes amount Particulars e
No. ®) ®
I. Equity and Liabilities 1. Share Capital : |
1. Shareholder’s Furd 2,000, 8% Preference 2,00,000
(a) Share Capital 1 8,00,000 Shares of ¥ 100 each
(b) Reserves and Surplus 2 30,000 60,000 Equity Shares of
2. Non-current Liabilities %10 each 6,00,000
Long-term borrowing :
6% Debenture of T 100 each 1,00,000 8,00,000
3. Current Liabilities 40,000
2. Reserves and Surplus
Total 9,70,000 General Reserves 1.50.000
II. Assets Balance in Statement
1. Non-Current Assets of P&L (1,20,000)
Plant, Property and
Equipment 3,00,000 30,000
2. Current Assets
(a) Inventories 3,75,000
(b) Trade Receivables :
Debtors 2,25,000
(¢) Cash and Cash Equivalent 70,000
Total 9,70,000
Show necessary journal entries and draw up the revised Balance Sheet. 15

Please Turn Over
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7. Following is the Trial Balance of Lakhya Co. Ltd. as at 31st March 2023 :

s xi ¥ f 37,500

| !9?-. E

? 4
Stock, 31st March 2022 75,000 -
Sales - 3,50,000
Purchases 245,000 =
Wages 50,000 s
Discount - 5,000
Furniture and Fittings -
Salari -
Rent ) =
Balance of Profit (01.04.2022) A - 15030
D’“daldspmd ' ’ - ' b er W e o1




iis

(wsm Sm.)-Macroecanomics-H/DSE-5. | AH/C BC b}

2023

MACROECONOMICS — HONOURS
Paper : DSE-5.1 AH
(Module - I)
Full Marks : 40

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.

Group - A

Which of the following are stocks or flow variables? 2

(a) Investment, (b) A hundred rupee note, (c) A family’s consumption of sugar, (d) Profit and losses
of a company.

Or,

State any two differences between economic growth and economic development.

(%]

Group - B

(a) How NNP at market price can be derived from GDP at factor cost?

(b) Calculate Gross National Product at factor cost from the following data : 2+

Particulars T Crore

Net Domestic Product at market price 17,000

Net factor income from abroad — 600

Cost of consumption of fixed capital 1,000

Subsidies 500

Indirect taxes 2,000

Or,

Explain clearly the expenditure method of calculating national income. Mention any two precautions
which are required to be taken while calculating national income by this method. 4+2
What is meant by supply of money? In this respect distinguish between narrow money and broad
money. What do you mean by money multiplier? 2+2+2

Please Turn Over
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4.

hn

Discuss the role of the policy of bank rate and open market operation in controlling inflation 6
Or,
How do you define inflation? Explain briefly the theory of demand pull inflation. 244
Group - C
(a) Consider the linear type of Keynesian consumption function and derive the value of APC and

(b)

(a)

(b)

(a)
(b)

MPC. Show that for every value of income APC is greater than MPC. What will be the relation
between APC and MPC if there is no autonomous consumption?

Derive the shape of the saving function from the Keynesian consumption function. Under what
assumption will the consumption curve be parallel to saving curve? (2+2+2)H2+2)

Or,

Consider a closed economy with a Government sector. Suppose that Government expenditure and
investment expenditure are autonomously given while consumption expenditure depends on disposable
income. Further suppose that Government plans to increase its tax-revenue by increasing the
amount of tax (the tax being a lumpsum tax). Explain the effect of the increase in tax amount on
the equilibrium level of income.

Explain briefly the concept of Balanced-Budget multiplier and show that it is equal to unity under
Simple Keynesian model. 46
Derive the curve that represents equilibrium in the commodity market.
Draw the shape of this curve and indicate its slope when

(i) investment is perfectly interest elastic.

(i) investment is perfectly interest inelastic. 6+2+2
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TAXATION-IT — HONOURS
Paper : CC-5.2CH
Full Marks : 80

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.

[ Direct Tax ]

(Marks : 40)

Group - A

1. What is loss return? State the consequences of non-filing of loss return. 243

2. Tax payable on total income of Mr. Roy for the assessment year 2023-24 computed at < 3,50,000. He
paid advance tax of T 45,000 during the previous year 2022-23. Tax of ¥ 15,000 has been deducted at
source. Interest u/s 234A, 234B and 234C calculated as per provisions of the Income Tax Act amounted
to ¥ 12,500, ¥ 16,800 and T 9,800 respectively. Calculate self-assessment tax payable by Mr. Roy ws
140A. 5

Or,
(a) Name two cases where quoting of TAN is compulsory.
(b) Mention the rate of deduction of tax at source in the following cases :
(i) Interest on bank deposit

(i) Winnings from lottery. 2+

s

A

3. (a) When can a revised return be submitted? State the time limit for the submission of such return.
(b) Write a short note on scrutiny assessment. 14143
Or,

(a) Mention any two situations when assessment shall be made by the Assessing Officer to the best of
his judgement u/s 144.

(b) Mention any three circumstances when an assessee is liable to submit return of income even if the
total income of the assessee does not exceed the maximum amount not chargeable to tax. 2+3
Group - B
4. Mrs. Dutta (Resident of India aged 65 years) furnishes the following particulars for the previous year
2022-23: '

(a) Total income excluding lottery income but including income from long-term capital gain on sale of
land ¥ 18,20,000.

Please Turn Over
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I'.J'l

(b)
(<)

ld\

Lottery income ¥ 1,26.000 (net of tax @ 30%).
Long-term capital gain on sale of land ¥ 1,50,000.

Deduction under chapter VIA ¥ 1,00,000.

(¢) Tax deducted of source during the previous year is I 73,440.

Compute the instalments along with the dates of advance tax payable by Mrs. Dutta.

10

lgnore section 115 BAC.

Or,

(a) When interest under section 234B is levied under the Income Tax Act?

(b) Tax liability of Md. Ayan Aslam (age 35 years) for the assessment year 2023-24 is T 50,000.

He has paid advance tax as given below :

— 8,000 on 15th June, 2022

— ¥ 11,000 on 10th September, 2022

— 16,000 on 15th December, 2022

— 10,475 on 15th March, 2023

— ¥ 4.525 on 25th March, 2023.
The total income of Aslam does not include business profit. Is he liable to pay interest
w's 234C, if yes, then how much? 2+8

Group - C

Mr. Dasgupta (age 50 years), a resident individual of India, furnishes the following details of his income
during the previous year 2022-23. Compute his total income and tax liability for the assessment year
2023-24.

(a)
(b)
(c)
(d)
(e)
(f)
(g)
(h)

Gross salary ¥ 18,00,000 (Professional tax paid ¥ 2,400)

Loss from let out house property < 2,70,000

Income from self occupied house property I 75,000.

Long-term capital gain on sale of jewellery ¥ 16,000

Short-term capital loss on sale of gold ¥ 3,000

Dividend received from Indian companies ¥ 50,000

Received from lottery (Net after TDS @ 30%) < 35,000

During the previous year he made the following payments :
(i) Life insurance premium on own life ¥ 25,000

(i) Medical insurance premium on own health X 15,000 and on the health of spouse ¥ 10,000
(ili) Own contribution to RPF ¥ 50,000

(iv) Deposit in PPF 90,000
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(V) Donated ¥ 10,000 to Prime Minister’s National Relief Fund
(Vi) Donated X 3,000 to a recognised political party

lgnore section 115 BAC.

Or,

15

!Ill.im. Mainak and Anik are partners in a firm sharing profits and losses in the ratio of 3:2: 1.
Profit & Loss Account of the firm for the year ended March 31, 2023 discloses a net profit of Z 68,100.

The following items have been debited in the accounts :

(a) Salaries of Pritam, Mainak and Anik — ¥ 70,000, ¥ 60,000 and ¥ 50,000 respectively

(b) Commission paid to Pritam ¥ 5,000

(c) Interest on partners’ capital @ 18% p.a. ¥ 9,000; T 8,100 and X 7,200 to Pritam, Mainak and Anik

respectively
(d) Donation to National Defence Fund T 10,000
(e) Penalty for violation of Custom’s law ¥ 5,000

() Remuneration of ¥ 24,000 p.a. paid to software engineer Mrs. Sayani, wife of partner Pritam, for

services rendered by her in the firm

(2) Depreciation ¥ 30,000 (Depreciation allowable under Income Tax Act I 40,000).

Compute total income and tax liability of the firm for the assessment year 2023-24. Assume that the firm

fulfils all the conditions of Section 184 and Section 40(b).

[ Indirect Tax |
(Marks : 40)
Group - D

(a) Mention three important advantages of GST.

(b) Name any two goods that are kept outside the purview of GST.
Or,

Define any two of the following as per GST Act:

(a) Taxable person

(b) Input Tax Credit

(c) Compensation Cess.

(a) What is taxable event for charging GST?
(b) With help of an example briefly explain the concept of :
(i) Intra-state supply; (i) Inter-state supply.

State the time of supply in case of :
(a) Supply of goods under forward charge
(b) Supply of goods under reverse charge.

15

2%4x2

2+(1%x2)

3+2
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9.

10.

(a) R Ltd. a manufacturer of cosmetic products supplied a package consisting of Body oil (GST 18%),
Body lotion (GST 28%), Shampoo (GST 28%) and Soap (GST 12%). The price per package is T 750
(exclusive of GST). 15,000 packages were supplied by the company to its dealers. Determine the
nature of supply and its GST lability.

(b) Determine whether the following supplies amount to composite supply or mixed supply :

(1) A hotel provides 3 days and 2 nights package wherein the facility of breakfast and dinner is
provided along with the room accommodation free of cost.

(i) A toothpaste company has offered a scheme of free toothbrush of ¥ 25 along with the purchase
of toothpaste of ¥ 248. 32

Or,

Sunny, a GST registered dealer in West Bengal, supplies 1,000 bags of cement @ I 400 per bag to Sahil
of Orissa. Trade discount of 10% is allowed. Sunny charges ¥ 17,500 for packing and freight separately.
Inspection charges of 2,000 is borne by Sahil, though Sunny is liable to pay such charges. Interest of
< 3.000 is charged by Sunny for delayed payment made by Sahil.

Calculate Value of supply and the amount of GST liability. IGST rate is 18%. 4+]
Group - E

(a) What is the maximum turnover for opting Composition Scheme?
(b) What are the components of ‘aggregate turnover’ under Composition Scheme?

(c) What are the specified GST rates under composition scheme? 24543
Ovr,

Srinita, a GST registered dealer in West Bengal, furnishes the following particulars for the month of
December, 2023. Compute the amount of GST payable for the month for December.

(a) Input tax credit balance in electronic credit ledger on December 01, 2023 : 10
<
IGST 2,55,000
CGST 1,30,000
SGST 90,000
(b) Details of outward supply in December 2023 :
Inter-State (including IGST @ 18%) 29.50,000
Intra-State (including CGST @ 9% and SGST @ 9%) 4130,000
(¢) Details of inward supply in December 2023 :
Inter-State (excluding IGST @ 18%) 15,00,000
Intra-State (excluding CGST @ 9% and SGST @ 9%) 10,00,000

Intra-State (including CGST @ 6% and SGST @ 6%) 5,60,000



(5) (¥(5th Sm.)-Taxation-11-H/CC-5.2CH/CBCS |

11. (a) Write a short note on Anti dumping duty.

U.K. Pound
FOB value of goods 25,000
Designing and development fees paid in U.K. 1,000
Air freight 5,500
Insurance Details not available
Landing charges ) 650
Transportation charges from Mumbai airport to the factory (3) 15,000

Exchange rate notified by CBIC is ¥ 90 per UK pound.
Basic Customs Duty — 10%; Social Welfare Surcharge — 10%; IGST : 12%.

(b) From the following information, calculate assessable value and customs duty payable in case of a
machine imported from UK. :

3+7
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Candidates are required to give their answers in their own words
as far as practicable.
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fawrst - o

-

81 Mr. Mallick (3% 42 q%3), qa&« G Siaiha a1l 2022-2023 #4478 qurz Srg wnaife am-aa frafafre
S (1 JTATEH &

Salaries <2,21,000
Income from house property < 2,50,000
Profit from business T 1,00,000
Dividend from a foreign company < 9,000

Mr. Mallick 2022-2023 #<28] q-Cq 7@ SRAMETS 30,000 5! 2 wraz |
ffe et S frema Sraweiz @2 wifiefeits Mr. Mallick a1 eitr s w0 #Afamne Fidae =0 |

5

Q

T2,
= B TR ¢ ¢+
(F) eanfee [{o
(}) FFR w3 Mg |

e - of

@1 Mr. Pyne (3371 0% T27) G35 SISH SR, 2022-2023 2338 42039 &) RS w2z (ol a2
(1) Income from house property % 2,00,000
(i) Income from business T 1,50,000
(i) Long-term capital gain on sale of jewellery ¥ 70,000
(iv) Short-term capital loss on sale of building ¥ 40,000
(v) Dividend from Indian Company ¥ 10,000
(vi) Winning from lottery ¥ 30,000 (Gross)
(vii) Donated ¥ 10,000 to Jawaharlal Nehru Memorial Fund
(viii) Paid X 10,000 for purchase of NSC (VIII issue)

(ix) Deposited ¥ 20,000 in PPF.
2023-2024 =i fA4i59 920 Mr. Pyne-43 JQ190 G0 SN € o0 S0 AR fde s | S3+9




(3)

/),

(¥(5th Sm.)-Taxation-11-G/DSE-5.1AG/CBCS)

A 9% B @3 weRwifd aieg weing, @ srariba o sk steaitag s o Fdad @4 2 | <
ST TR ST~ (WA ©is) 50 (7 | 31.03.2023 SR 17 2671 I202 SRR AN AS 04 ZAC 115

eyl 35 2
7 4
To Salary to staff 75,000 | By Gross Profit 3,30,000
s Depreciation 20,000 | »> Interest on bank fixed deposit 14,000
»»  Office expenses 58,000
»s Rent 12,000
»»  Provision for doubtful debt 5,000
> Salary to Partners :
A 54,000 |
B 72,000 1,26,000 '
ss  Commission to B 9,000 i
»s Interest on Capital @20% p.a.:
A 8,000
B 7,000 15,000
»» Net Profit :
A 12,000
B 12,000 24,000 |
Total : 3,44,000 Total : | 3,44,000 |
Fajle] OUTIZ &

(i) Office expenses include penalty paid to Customs Authority ¥ 5,000.

(iiy Depreciation as per Income Tax rule ¥ 17,000.

2023-2024 77 4129 9203 TR LA SR (I S € 277 I e [T s L3490
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SGST - 9%, IGST - 18% | @
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faert - ¢
ol (F) 5% 2117, AT GFe GST IS Faaizeisl, WIS 202343 & RFEIRS Sz (o <=0 |

€% AHF T 40 GST-3 =i [efa 52 2

Particulars Amount ()
Input tax credit balance in electronic credit ledger as on
1st August, 2023 :

IGST 7.50.000
CGST 1,50,000
SGST 1,435,000

Details of outward supply in August 2023 ;
Inter-state (Exclusive of IGST @18%) 60.00.000
Intra-state (Exclusive of CGST @9% and SGST @9%) 80.00.000

Details of inward supply in August 2023 :
Inter-state (Exclusive of IGST @18%) 16.00.000

Intra-state (Exclusive of CGST @6% and SGST @6%) 40.00.000
() AAG ol a0 Y F CANA1? N
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31 () WEfERS ®Y (@ Customs Act, 1962 Sl @afl simifige Gifse-«az fdae sy fdfa war

() FOB value as per Customs US § 20,000
(i) Air freight US § 5,000
(i) Insurance US $ 500
(iv) Transport charges from Kolkata airport < 20,000

to warehouse
(V) Exchange rate notified by CBIC is %70 per US §.
(X) 1 ¥% (Safeguard Duty)-93 B/ <% Biat e | v+8
I

(%) Customs Act SR a0 oIS S o
() FF3 B e ¢

(%) SifG-Tifte ws

() anshe ws) 14(e+9)

[English Version|
The figures in the margin indicate full marks.

[Direct Tax]
(Marks : 40)
Group - A
1. (a) What is belated return?

(b) What is the time limit for submitting a belated return?
(c) Can a belated return be revised?

Or,

2+2+]

Write a short note on Tax Deduction Account Number (TAN). 3

2. Discuss the provisions of Income Tax Act relating to deduction of tax at source from winning of lottery

3
Or,

State the due dates of submission of return by the following persons

(a) Mr. Das, an individual, whose income is not subjected to audit,
(b) Mrs. Bose, an individual, whose income is subjected to audit,

(c) M/s. XYZ, a firm, 242+]
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3. Mr. Ramu, whose income consists of salary and bank interest, has submitted the return of income for

bility for the said year is T 72,800 out

the assessment year 2023-24 on September 18, 2023. His tax lia ] :
of which ¥ 36,800 has been deducted at source by his employer. Advance tax paid ¥ 20,000. Determine
the interest chargeable under Section 234A and fees payable under Section 234F. 4+]

Group - B

4. The estimated income of Mr. Mallick (42 years), a resident individual for the previous year 2022-2023

are as follows :

Salaries 32,221,000
Income from house property < 2,50,000
Profit from business < 1,00,000
Dividend from a foreign company < 9,000

Mr. Mallick contributed to Public Provident Fund ¥ 30,000.

Compute the amount of advance tax payable by Mr. Mallick along with the due dates of payment of
instalments. 10

Or,

Write short notes on :

wn
T
wn

(a) Revised Return

(b) Summary Assessment.

Group - C

5. Mr. Pyne (32 years), a resident individual of India, furnishes the following information for the previous
year 2022-2023 :
(i) Income from house property ¥ 2,00,000
(ii) Income from business ¥ 1,50,000
(iii) Long-term capital gain on sale of jewellery < 70,000
(iv) Short-term capital loss on sale of building ¥ 40,000
(v) Dividend from Indian Company 10,000
(vi) Winning from lottery Z 30,000 (Gross)
(vii) Donated ¥ 10,000 to Jawaharlal Nehru Memorial Fund.
(viii) Paid ¥ 10,000 for purchase of NSC (VIII issue).
(ix) Deposited T 20,000 in PPF.
Compute taxable income and tax payable by Mr. Pyne for the assessment year 2023-2024. 121

2
-+
s




(7)
Or,

(V(Sth Sm.)-Taxation-11-G/DSE-5.14 G/CBCS)

A and B are partners in a firm which is assessed as a firm. They share profits and losses equally. The

firm's Profit & Loss Account for the year ended 31.03.2023 is given below :

4 Z
To Salary to staff 75,000 | By Gross Profit 3,30,000 |
»»  Depreciation 20,000 | »> Interest on bank fixed deposit 14,000
»  Office expenses 58,000 |
» Rent 12,000 |
»>>  Provision for doubtful debt 5,000
>s Salary to Partners : |
A 54,000 .
B 72,000 1,26,000 |
»>  Commission to B 9,000 |
»> Interest on Capital @20% p.a. :
A 8,000
B 7,000 15,000
>» Net Profit :
A 12,000
B 12,000 24,000
Total : 3,44,000 Total : | 3,44.000
Additional information :
() Office expenses include penalty paid to Customs Authority ¥ 5,000.
(i) Depreciation as per Income Tax rule ¥ 17,000.
Compute taxable income and tax liability of the firm for the assessment year 2023-2024. 1243
[ Indirect Tax |
(Marks : 40)
Group - D
. Distinguish between Direct Tax and Indirect Tax. 5
Or,
(a) Mention any two indirect taxes not subsumed in GST.
(b) Mention any three important features of GST in India. 243
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7. Mention the components that are included in the value of supply of goods. 5
Or,
Write short notes on :
(a) Mixed supply
3+2

10.

L

(b) Inter-state supply of goods.

J, a registered dealer in Bihar, purchases goods from T in West Bengal for an amount .c;f
2 10.000 (exclusive of GST) in September 2023 and sells goods to K in Bihar for ¥ 20,000 (exclusive
of GST) in September, 2023. Calculate the GST payable by J for the month of September, 2023. Assume

GST rate for both purchases and sales : CGST -9%, SGST - 9%, IGST - 18%. 5
What do you mean by ‘Forward charge’ and ‘Reverse charge’? Discuss with examples. 5
Group - E

(a) Chandan Pal, a GST registered supplier of West Bengal, furnishes the following particulars for the
month of August 2023. Compute the amount of GST payable for the month.

Particulars Amount (%)
Input tax credit balance in electronic credit ledger as on
1st August, 2023 :
IGST 7,50,000
CGST 1,50,000
SGST 1,45,000
Details of outward supply in August 2023 :
Inter-state (Exclusive of IGST @18%) 60,00,000
Intra-state (Exclusive of CGST @9% and SGST @9%) 80,00,000
Details of inward supply in August 2023 :
Inter-state (Exclusive of IGST @18%) 16,00,000
Intra-state (Exclusive of CGST @6% and SGST @6%) 40,00,000
(b) What do you mean by Composition Scheme? 8+2
(a) From the following information, calculate Assessable Value under Customs Act, 1962 in case of
importation of a machine.
(i) FOB value as per Customs US $ 20,000
(ii) Air freight US § 5,000
(iii) Insurance UsS § 500
(iv) Transport charges from Kolkata airport < 20,000

to warehouse
(v) Exchange rate notified by CBIC is ¥ 70 per US §.
(b) Write a short note on Safeguard Duty. ”
Or,
(a) What is taxable event under Customs Act?
(b) Write short notes on :
(i) Anti-Dumping duty
(ii) Protective duty. 24(5+3)



